RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-586 Therma-Tru Stee[\Drawings\REV 2018 IBQ\TX-4210-11.dwg, TX-4210

POWERED BYlﬁ

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Steel Door system described herein complies:with the 2018
International Residential Code {IRC}, Sections R301 & Ré0? and the 2018
Infernational Building Code (IBC}, Sections 1404.13, 1609, 1709.5, 2403 and 2404
subject fo the following conditions: :

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-bome debris profection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this

drawing.

4. Conditions not covered by this drawing are subject to further engineering

analysis.

TABLE OF CONTENTS

SHEET#

DESCRIPTION

Typical elevations, design pressures & general notes

Door panel detdails {lip lite insert glazing)

Slidelte panel detdils {lip fite insert glazing)

Horizontal cross sections

Vertical cross sections

Vertical cross sections

Nlovfolsa|lwi

Frame anchoring

112.94" MAX. OVERALL

ALS
TERW
st
0.. * {?
" Q:’ .t i‘%
T

ENNCTY
OF,

N
€ 2

FRAME WIDTH

81.94" MAX. OVERALL
FRAME HEIGHT {INSWING)

81.125" MAX. OVERALL
FRAME HEIGHT (OUTSWING)

0) (0]

+35.0

INSWING

OUTSWING +40.0

W,

8 o

e 0

o o 14

Eg o o

] S 4

o ui Om o

2 £ .. &

L )

o

S'é' 00 %

° sa §

gl— =Tn =

2 J%52 9
a>n B
Zowo i
o™ g

5‘ ONS T
O xZ

k] [+ L.
z

e SM0e O

g 55 0

' 3ok %

o ]

.’ ;JE ]

ot

<

©

E g

3 a;

[+

o

o

CERTIFICATE OF REGISTRATION # F—11852

0
Z =
o2
A
&
&
5=
<
x oy b
D §<((.')
S [ e
& al o
a 0
< F&
P e A
F0n
3 S| & o
B ,_tg-:l
e Z A
o o
el |2k
~J U e |
L
Q
&)
IF|Cln
Q
= 154 ]
SIE|O|
=INT<
N Q)
oggg@ wn
A z
BREEES
EOqS n
elNlgist IS
LLO%U (1]
SIFIRIEl &
Sluig|<
LL.<Q
IR
Iy
ol&iqld
alrigln
| ||
O ol
N RO
3 Biate
NS OQ
NEDE
m| =12

DATE: 8,/08/12

ScALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX-4210

sHeer 1 oF 7




LY i
SEr: =8 .
INTERIOR e 7R 7 9‘3 .... .--: 22, ol 2° o EY
124 = ———= 28" 124" = 175 o iED B J|ES B U8
25 NAiGin GBY x|%d ¢R oF
f vl . N e (COMP.) 501 fwiy Nl I E2 =
/» = oo \ 2w iz i W gg ggg Zz
io R IS g S . X HeR € ftm 98
~ / T S = ‘ \ (1{;-." Q: o > d5© &l—
+ . 2 T Mygrd=: ¥ oo O9R. &o
Y & N & S%g: gl
. O Xz
Z EXTERIOR Z FOAM CORE —~] § g m‘? o f‘a
HINGE STILE 12' LONG LOCK STILE (POLYURETHANE) ™\~ £ 328 £k
(WOOD) LOCK BLOCK Lo @9
(WOOD) 2
(WOOD) £ @§ gg
E )
3
[+3
@ HORIZONTAL CROSS SECTION 8
2
)
n=<
=N
5o
[
36" MAX. g |, dﬁ%
PANEL WIDTH 2 |32
& |3 ==
7
21" MAX INTERIOR - EXTERIOR . Q| S5
D.L.O. WIDTH e 5 x 8%
@ 4 8 ,E -
2 #6 X 1-1/2" PH SMS € <
[%211%]
GLASS BITE 7/16" 2 15]51%
INTERIOR 8
" ' [ Qo
PT‘ ‘/ NOMINAL GLASS THK. ‘!‘WZ[ZJIHHINUQ Qj z 8
Z J
. / !: 1/8" TEMPERED GLASS q — SlEs|4
§ . . 3 s é AR SPACE 24 Ga. STEEL SKIN —\ _ 519 ool |y
Ay %0 S N " f 00| E2| B
<xZ IP s 1 @ q S ~~—1/8" TEMPERED GLASS g‘g:% o
Iz wno J £5E3 B
- 2z o ciO|lo S} 4
< a STEEL SPACER SR
‘al Slwig|<
R EXTERIOR Q'SO SEALANT £5|9g
olfiolg
LOW TACK SEALANT “ SRS
SEE HARDWARE BOTTOM RAIL p o |olv
TABLE GLAZING DETAIL (COMP.) NI
Lip Lite Insert Glazing § gg g
b T Ml e~ %
THERMA-TRU oATE: 8,/08/12
AERMA-IRY scale:  N.T.S.
insert giazed (2" VERTICAL CROSS SECTION e
(steel) \?/ ™ LFS
CHK. BY:
KWIKSET LATCH: SIGNATURE SERIES (991) DRAWING NO.:
DEADBOLT: SIGNATURE SERIES (980/985) TX—4210
SHEET _2 ofF _7

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-586 Therma-Tru Stee\Drawings\REV 2018 IBC\TX-4210-11.dwg, 2.3

© zo12 R.W. BUILDING CONSULTANTS ING.



‘ON] BUANVLINSNDOD aNIaung ‘m*'> 202 @

SEad SRR AR, | (Nzvo pasv A 1) g — 3190 Tox
STvL3a 13INYd 317341 i TS SNIVANOIEY aIaav Nl o 7_
L L N o ‘XTENISSY 90 Lvd Loy g L7007 LL LIRSS 2
GBGEE 14 OOMIDA 0£Z *o@ 'O'd \S«@v S41 SAIOHSIYHL TvYNOLLIAAY aav| gL/so/6 ] Z 1eol™ Qe
“ONI 'SINVLINSNOD ONIgTING 3002 2¥I/08! 810Z OL 31¥adn N 2 | 3_
S % NOILJO ,8wpijuoisnd, aaviel/6L/zL] € | BlEle &
SZIVOLF “T'd SVXEL vdnans MEINE 5
‘F'd PIYog 4 uopuk :Ag peupdesd sjuswunoog 1L.0NA0dd m w Z 5 w M
2 .S

)t.(.vn,(
503 g,

\>)
ey
i“‘ \v\vy%'c Wg VO .&V\Mco
-0 fd..‘ r' AV
Bt EELPOL WO
G\H -w:o:!..::ro:\
m...n.::ofzoaf m

“ve
n.oo-o:-oc'oabocc:o’o.

L ) e
««w_w* .... ..*‘mw
NN QW.M.» ..... g e *\(
Yt LA

3]

W60

W60 _

EXTERIOR

~— 175"~

WG T A

I S

VERTICAL CROSS SECTION

NE) .
INTERIOR

BOTTOM RAIL

([COMP,)
(2
3/

£
Z
vl
—_
il
iy
=
%}
g
O
<
o~

= 124
snusx
(WOOD)

1/8" TEMPERED GLASS

~~—1/8" TEMPERED GLASS

———1/2" NOMINAL GLASS THK.

STEEL SPACER

Q'SO SEALANT

GLASS BITE7/16"

-t

—lwﬁafﬁg_ Wi -7

S

GLAZING DETAIL
Lip Lite Insert Glazing

@

INTERIOR
EXTERIOR

LOW TACK SEALANT

[/ i

INTERIOR

#6 X 1-1/2' PH SMS

EXTERIOR
1"\ HORIZONTAL CROSS SECTION

(s

..Ilj.i
—lt:t::. THETH 12

D
THERMA-TRU

Insert glazed
{steel)

1 N - :
= = nwu s T
B - e
3 ©w= xS 38 IHOBH ‘0T
= b\ ~_| == =2 XYW .£9
= 111 - g "
sz =9
< N
* & 3
. 1HOIFH TINVd
—-— :WN _. - W_OOQ .x<<< ..WN.&N

£€ BMP'LL-0LZP-X1\D81 8L0Z AFY\SBUIMBRIO\[321S PuL-BUWIRY] 985-4Q - 1AL\SYY 0 3daq sexa] - G\LNINVINYId Binpua\siuaiD\y



R\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-586 Therma-Tru Stee\Drawings\REV 2018 IBC\TX-4210-11.dwg, 4.3

@
@
ZQQ
%,
+%
R 2
O. 2
DT &

F

>~
N
>~
4
~
\.\.:\\L'l
QF TN
o ; ot
-~ K
‘NOII LT TY LI YT LA T YT w
! DT

£

="
X
>~
X
N
N
G
";'32

m / / BACK-TO-BACK JAMBS:

a0l ~
S . "FusionFrame” (1 OR 2-PIECE) Vidanss
= FusionFrame
NI (A8

{ - MULLION
et O = N

&

( )) INTERIOR #10X 2-1/2" PFH
X2 © S O % % WOOD SCREW
\ 4 /q © #8 X 2-1/2" FH COURSE 0 () | ENDURA WEATHERSTRIP (SEE NOTE 2)
THREAD DRYWALL SCREW O (QEBD/PE 650)
/ ALY / (SEENOTE 1) ENDURA WEATHERSTRIP SIDELITE PANEL
4 / VA DODOR PANEL (QEBD/PE 650) L
/ / / x
-
Z " =
Z

x \ ......... } """ \ K

> b 4 q / /
#10X 3" PFH
SIDELITE PANEL #8X 2-1/2" PFH
RNER PADS > (3N (2N 4 #8 X 1" PFH SMS DOOR PANEL WOOD SCREW ' oot
co DAY, #8 X 2-1/2" PFH WOOD SCREW LATCH (SEE NOTE 1)
(TYP.) EXTERIOR STRIKE PLATE
| | CHBXI/APFHSMS  4"HINGE EAIERIOR | |
| /~3 "\ HORIZONTAL CROSS SECTION {4\ HORIZONTAL CROSS SECTION
W Outswing shown - Inswing also approved \\4/ Outswing shown - Inswing also approved
— 15— -~ 15" ]
WOOD ) 4-3/8" FATBOY 4-3/8" FATBOY
\ AN PINE MULLION PINE MULLION \
COMPOSITE \ INTERIOR 48X 2-1/2° FH COLRSE
N ] #8X 2-1/2" FH COURSE ENDURA WEATHERSTRIP THREAD DRYWALL SCREW
o - 2 THREAD DRYWALL SCREW (QEBD/PE 650] 7 (SEE NOTE 1)
S| N ISEENOTE ) DOOR PANEL ENDURA WEATHERSTRIP - 2 . SIDELITE PANEL
! (QEBD/PE 650) g é -
0 0 e
D D y v i \ V..hk ////f////////‘.i’(//
- UJ 2 AT Do - SN X
. =) \Q-" W N S =
e | S
\ ~ ‘ / ﬁ"

#8 X 1" PFH SMS #8 X 2-1/2" PFH WOOD SCREW

DOOR PANEL

2.5 —= 25" / J
FATBOY MULLION MULLION SIDELITE PANEL / C{

PINE "FusionFrame" #8 X 2-1/2" PFH WOOD SCREW LATCH
#8 X 3/4" PFH SMS 4" HINGE EXTERIOR STRIKE PLATE
NOTES:
1. Spacing for sidelite screws: 6.5", 38.5" and 69" from head to sill (3 total). m HORIZONTAL CROSS SECTION m HORIZONTAL CRO.?S SECTION
2. Spacing for mullion screws: " from each end plus 3 more equally spaced (5 total). \U Outswing shown - Inswing also approved \y Outswing shown - Inswing also approved

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

v
=z
9
< =5
o 2
> o))
Q Bl
=z =Sl &
L ol oW
7 <8
< (&)
= o
o
3 o
o &
& <
o o
0l |»lnls
t I bt Bt

UPDATE TO 2018 IBC/IRC CODE

9/05/18 |ADD_ADDITIONAL THRESHOLDS

12/19/19|ADD “FusionFrame” OPTION &
1/06/14 |ADDED ARTICULATING SILL

NO. DATE

3
2
1

REVISIONS

oate: 8/08/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4210

SHEET 4 oF 7

© 2012 R.W. BUILDING DONSULTANTS ING.



R:AClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-586 Therma-Tru Steel\Drawings\REV 2018 [BO\TX-4210-11.dwg, 5.3

2X FRAMING 2X FRAMING
= G>=0.42
- - (G >=0.42) ( ) _
EXT. SHEATHING {114 o =
W1 t_»;; \ DRYWALL .
\ il L DRYWALL \ i
Nl | #10x2:1/2'PrH .
11 4 WOOD SCREW -
]/ " MAX. 11 N .
SHIM SPACE i 1/4" MAX. o
1 SHIM SPACE -
2o \
SOE
DOOR PANEL \\ 1 SIDELITE PANEL \
HEAD: PINE #8 X 2-1/2' FH COURSE
ENDURA WEATHERSTRIP  THREAD DRYWALL SCREW
(QEBD/PE 650) [SEE NOTE 1)
/4
EXTERIOR N INTERIOR INTERIOR

/"1 "\ VERTICAL CROSS SECTION

w Outswing shown - inswing also approved

0.75" —-t«—-'i 0.75" «'«—»’ t<—>[— 0.75"
COMPOSITE
SNAP-ON
CA{\
il
21N
/
O LVL
O
of
——-1 1.25" L‘*_,, 1.25" e . 195" |=—
JAMB / HEAD JAMB / HEAD JAMB
PINE "FusionFrame” "FusionFrame"
(1-PIECE) {2-PIECE)

EXT. SHEATHING

e

DR N2

VA
o
AN

]5“
CSINK

o
=

0

R s

N

HEAD: PINE

EXTERIOR

/" 2"\ VERTICAL CROSS SECTION

\y Inswing shown - Outswing also approved

1/4" MAX.
SHIM SPACE

JAMB: PINE

™

/#mx 2-1/2" PFH
WOOD SCREW

2X FRAMING
(G>=0.42)

3

¢ 1 1A

EXT. SHEATHING 1] |4

\ A
y

1/4" MAX,

v

SHIM SPACE

DOOR PANEL

™~

EXTERIOR A\

/"3 "\ VERTICAL CROSS SECTION

w Outswing shown - inswing also approved

#10 X 2-1/2" PFH WOOD SCREW

#8 X 2-1/2" FH COURSE \
THREAD DRYWALL SCREW

(SEE NOTE 1)

—

\\

/ /DRYWALL
Y S d— INTERIOR

)

SIDELITE PANEL

EXT. SHEATHING

7“4\ HORIZONTAL CROSS SECTION

w Outswing shown - Inswing also approved

#8 X 2-1/2" FH COURSE

JAMB: "FusionFrame"
{1 OR 2-PIECE)

1/4" MAX,
SHIM SPACE

#10 X 2-1/2" PFH

WOOD SCREW

THREAD DRYWALL SCREW
(SEE NOTE 1)
2X FRAMING
(G >=0.42)

SIDELITE PANEL

EXTERIOR

T

\\

2X FRAMING
(G >=0.42)

A

N AR

EXT. SHEATHING

/~5 "\ HORIZONTAL CROSS SECTION

\SJ Outswing shown - Inswing also approved

SRRLER uj
SRy R
Foo i D165, £3 9
o~ .\3‘:’9 : 2 ’o,'d,,;, a To 0 5%
S iTE el vlEx @ U8
R AN oS SRR ".¢¢ Ak - £ <
TR : %‘a““ 3 A e
aus EACE AN - Sl.a 2 Gu
X \\ ﬁoi%.’m:; %.: N go ¥
oK L8 W2\ V. R
ui” izi2 ofSKy s E.o 3,
|DRYWALL| Przn,  iOf XoeN ' |ER £23 8§
b, 191 > Nte GE
Ie& "..:2:‘.."0‘<~ a>"s g
?z{{*gzs PR Zgo &0
i & SR/ EQ
o oxz K
] Z 5 o Ol
g 9 . 4°
#10 X 3" PFH  B%e 3%
WOOD SCREW 2 § -
s &
- £ 6
= 00p0o0] g
HEAD: "Fusionframe" (1-PIECE) 2
o
ENDURA WEATHERSTRIP S
(QEBD/PE 650) o
<
o W
2 |38
= o X
, NOTE: I I B
* Spacing for sidelite screws: 2 g
6" from each end (2 total). P o B
s ol W
sl s
a P »
o] [e]el;
-1 ~J{-J

UPDATE TO 2018 IBC/IRC CODE

9/05/18 |ADD ADDITIONAL THRESHOLDS

12/19/19|ADD “FusionFrame” OPTION &
1/06/14 |ADDED ARTICULATING SILL

NOJ DATE

3
2
1

REVISIONS

pATE: 8,/08/12

scAE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX~4210

SHEET 5 oF 7

i

© 2012 R.W. BUILDING CONSULTANTS ING.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-586 Therma-Tru Steel\Drawings\REV 2018 IBC\TX-4210-11.dwg, 6.3

ENDURA
E‘Sﬁ DOOR SWEEP
AN (DBK-R)

ey
7

%XTER!OR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

m VERTICAL CROSS SECTION
W Inswing Adjustable Threshold

SIDELITE
PANEL

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
(SEENOTE 1)

INTERIOR

P

A\ Y

ENDURA
DOOR SWEEP

/ (DBK-ZAC)

DOOR
PANEL N

. #10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR {TW CONCRETE SCREW

/ 2"\ VERTICAL CROSS SECTION
\U Inswing Articulating Threshold

SIDELTE 7]

PANEL \

#8 X 2.5" COURSE THREAD ——
DRYWALL SCREW
(SEE NOTE 1)
EXTERIOR

<2

ENDURA WEATHERSTRIP
(QEBD/PE 650)

11012)13

=

INTERIOR

NOTE:

#10 X 2.5 PFH WOOD SCREW OR 1.
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

m VERTICAL CROSS SECTION
w Outswing Bump Threshold

Spacing for sidelite screws:
é" from each end {2 total).

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.0. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC,

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F-11852

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR TW CONCRETE SCREW

m VERTICAL CROSS SECTION
W Inswing configuration

b

! 456" |
INSWING ADJUSTABLE THRESHOLD

INSWING ADJUSTABLE THRESHOLD
ZAIL4565

1

ZAI4565FN

456" !

6 INSWING ARTICULATING THRESHOLD 7 INSWING ARTICULATING THRESHOLD

IACL4565 ZACA565FN

& 5
b 456" | } ! 456" -
@ OUTSWING THRESHOLD 12) QUISWING THRESHOLD
ZOBL4565 ZOB4565FN

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION
w Outswing configuration

p )
i =g ]
7

b 456 | 1 456" | ! 456" |
(3) LUHING ADIUSTABLE HRESHOLD (7 NSWING ADJUSTABLE THRESHOLD 5 ) INSWING ADJUSTABLE THRESHOLD
ZAILAA4565 ZAIAA4565FN ZAI4565RDS

456" ] r— -

b 456 - [ 456 !
o ) INSWING ARTICULATING THRESHOLD (o™ INSWING ARTICULATING THRESHOLD 10} INSWING ARTICULATING THRESHOLD
ZIACLAA4565 ZIACAA4565FN IAC4565RDS

(C

f 456" |

13} QUTSWING THRESHOLD
IOB4565RDS

ENDURA
VERTICAL
CROSS SECTIONS

PRODUCT:

LFS | PART OR ASSEMBLY:

LFS
LFS
BY

UPDATE TO 2018 IBC/IRC CODE

9/05/18 |ADD ADDITIONAL THRESHOLDS

12/19/19|ADD "FusionFrame” OPTION &
1/06/14 |ADDED ARTICULATING SILL

NO.| DATE

~—

3
2

REVISIONS

oaTE: 8/08/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4210

SHEET 6 oF 7/

© 2012 R.W. BUILDING CONSULTANTS INC.



X ui
s O 2X FRAMING HEAD ANCHORS: 453;‘;"3‘,,}}‘11 &g
O05% (BY OTHERS) #10 X 2-1/2" WOOD SCREW (PINE JAMB) It £3 @ .
e 4 #10 X 3" WOOD SCREW (1-PIECE JAMB) S iEE Ex 2 s
3=9 M 2" ) JAMB ANCHORS: E~I N iGim ob Su ¢B &7
s Q (TYP) & 6 #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) gg«% i TSI o5 Gu
‘ — T'— (TP (TYP.) ~—T I«- ‘ #10 X 3' WOOD SCREW (1-PIECE JAMB) it iy i G gg g A
- ~ Xy A ) 8 8a 22
— ] T T T T T 1 1 i %es. 18F 2 5° £58 22
| SEEHINGE \ \ T T - , e el g-v f
1B DETAIL 1 DETAIL 1 DETALL 1 ? .- RLCERC s 88 g
& Nog o & 3 23% 5,
~ = 5 g 2,5 o°
® e Q & 502 43
< Q £ Rod g
O \ & g
d \] | 2 (o]
P lm " || ; S F
A ~ !E . a
SEE HINGE 5 ] \ ] }
DETALL 2 SEE STRIKE _/ o -
- DETAIL =
~.4 ™~ o
Y| DETALL 1 DETALL 1 g |3
‘\ / a | 2
. - = @ <
i i I (N I = é i
[ 1 I
% : : o &
. SILL ANCHORS: ; 5 x
AP = | = #10X 2-1/2' PFH WOOD SCREW 3 °
2" (TYP) | | 1/4'X 2-3/4" ELCO OR 2 5
HINGE JAMB FLOOR SUBSTRATE MATERIAL ¢ TW CONCRETE SCREW STRIKE JAMB & £
—_— CONCRETE (MIN. 3000 PS) ol opl-
WOOD (G >= 0.42) FRAME ANCHORING i Il
OXO L
o
- DEADBOLT SECURITY 3|94
STRIKE PLATE z|2|3
#10 X 3" PFH W —=] SISElE
JAMB NOTES: #8 X 3" COURSE DRYWALL SCREW I L
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. ) ol EE 1B
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. #8 X 2-1/2" PFH WS —= LATCH STRIKE ElS|5| [@
e < >
INTEGRAL MULLION NOTES: — PLATE N
THE FATBOY PINE MULLION, "Fusionframe" MULLION, OR THE "FusionFrame" BACK-TO-BACK Bw|5|E
JAMB (1-PIECE OR 2-PIECE) MAY ALL BE USED AS THE INTEGRAL MULLION. STRIKE PLATE DETAIL I S
R Ll
CONCRETE ANCHOR NOTES: DETAIL 1 815/818
1. Concrete anchor locations at the corners may be adjusted to maintain the min. Infegral mullion attachment ; 3
edge distance to mortar joints. N 2 "
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to ® gé;
maintain the min. edge distance to mortar joints, additional concrete anchors A N 8 a
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. \)\ 48X 2-1/2" \}\ = -
3. Concrete anchor table: % 8X2-1/2"PFHWS P #8 X 2-1/2" PFH WS m| |~ =12
CANCH 4# - ’32 o ®) | oaTE: 8,/08/12
® e[ ]
#8X1"PFHWS<fo | o ; \ 4# =| o ScAE  N.T.S.
~o Hile Z:> #8X3/ PFH WS #8X ] PFH WS :. 1 =. ':5_ #8X3/4" PFH WS DWG. BY: JK
mw ~— 4" X 4" HINGE ] ey
® 1/4" 1-3/4" 2-1/2" 3" ~— 4" X 4" HINGE CHK. BY: LFS
TAPCON / / / \{ \1 DRAWING NO.:
ELCO “ TX—4210
®f  1/4" 1-3/4" N 3
ULTRACON HINGE DETAIL 1 HINGE DETAIL 2 —

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-586 Therma-Tru Steef\Drawings\REV 2018 IBQC\TX-4210-11.dwg, 7.3

@ 2012 R.W. BUILDING DONSULTANTS INC.



